
IN231200384V01_GL

801-360V80

Christy xia
Ink

Christy xia
Ink

Christy xia
Ink

Christy xia
Ink

Christy xia
Ink

Christy xia
Ink

Christy xia
Ink

Christy xia
Square



1



④

① ⑤

⑤

⑥

⑥

③

②

⑦

⑧

⑨

⑦

⑪

⑩

⑫

2



 ①×1  ②×1 ③×1

PARTS

⑤×2 ⑥×2

⑧×1 ⑨×1

⑪×1 ⑫×2

④×1

⑦×2

⑩×1

3



A×24
M5*50

EN_Do not confuse similar screws.
FR_Ne pas confondre des vis similaires.
ES_No confunda tornillos similares.
PT_Não confundir parafusos semelhantes.
DE_Verwechseln Sie ähnliche Schrauben nicht.
IT_Non confondere le viti simili.

NOTE

(spare)

B ×4
M6*50

HARDWARE

F ×4
M4*10

E ×4
M4*20

H ×2
M3.5*14

D ×8
M6*10
(spare)

G×1
M4*8

L ×2 M×1

C ×6
M6*30
(spare)

J ×6

K ×1

N ×1

4

AutoCAD SHX Text
+1(spare)

AutoCAD SHX Text
+1(spare)

AutoCAD SHX Text
+1(spare)



01

02

5

5×50
A ×16

①

②
③

⑤

⑤

⑥

⑥

J ×6

6×30
C ×6

6×10
D ×4

④
⑪

Part 5 has two height 
adjustment to choose.

Christy xia
Line

Christy xia
Line



04

4×8
G×1

⑦
⑦

⑫

6×50
B ×4

6×10
D ×4

03
4×20
E ×4

4×10
F ×4

⑩

E

F

B

G

D

6



06
3.5×14
H×2

05
5×50

A ×8

⑨

⑦

⑧

 

7

H

 

LED Light Strip can be
sticked under part 8 follow 

your needs.

K

A

M



8



9


	图纸和视图
	模型


